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The ρ0 meson
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Vector meson cross sections
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Vector meson cross sections

1 Large ρ0 width

2 Overlap withω resonance
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The photoproduction process
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Photon Flux

dNγ(ω)

dω =
2Z2α

πω
(XK0(X)K1(X)−

X2

2 (K2
1(X)−K2

0(X))
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Color dipole

1
Coherent interaction with
whole nucleus → meson with
low pT and nucleus remains

2
Incoherent interaction with
only one nucleon. → high pT
meson and nucleus breakdown
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Mutual Coulomb Excitation

1 Nuclei exchange photons and excite each other

2 Excited nuclei breakdown and forward neutrons
at very forward rapidities
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Previous Research
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Fitting data

The Breit-Wigner, Söding interference
and momentum dependent width
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Where are we now?
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Thank you

Especially to those whose art and graphs and everything else I stole.
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